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(1) EE LR (8411 A)
p——y (537 HE B AER INET HIHY et &5t
B g E B o8 = B g E B o4 = B 8 E B £ = B g = B £ B
50m 41 | 23 | 64 | 13 8 | 21 | 10] 5 15 | 2 1 3 | 66 | 37 | 103 ] 56 | 36 | 92 122 | 73 | 195
100m 53 | 22 | 75 | 27 | 9 | 36 | 25 | 9 | 34 105 | 40 | 145 | 175 | 63 | 238 280 | 103 | 383
200m 20 | 5 | 25 | 12 | 7 19 | 13| 4 | 17 45 | 16 | 61 | 144 | 44 | 188 189 | 60 | 249
400m 0 0 o | 50 | 18 | 68 50 | 18 | 68
800m 14 14 | 14| 7 |21 ] n 5 16 39 | 12 | 51 | 81 | 25 | 106 120 | 37 | 157
1500m 19 | 1 20 | 14 | 7 | 21 9 5 14 42 | 13 | 55 | 73 | 17 | 90 115 | 30 | 145
250—1 17 | 19 | 36 17 | 19 | 36 17 | 19 | 36
4x100mYL— 0 0 o | 219] 98 | 317 219 | 98 | 317
T 3 3 3 0 3 2 2 5 0 5
TIERE 22 | 5 |27 16| 9 | 25| 14| 3 17 | 2 2 | sa | 17 ] 71| s8] 27| 85 M2 | 44 | 156
EIER 5] 4 | 19]10] 4 [ 14 n 3 14 36 | 11 | 47 | 36 | 8 | 44 72 | 19 | a1
FatLig 34 | 14 | 48 | 8 8 [ 16 ] 10] 6 16 52 | 28 | 80 52 | 28 | 80
YIRR—ILEE 50 | 25 | 75 | 12 | 4 | 16 | 13 | 3 16 75 | 32 | 107 | 36 | 27 | 63 111 | 89 | 170
TRy I ZA0— 24 | 14 | 38 | 12 | 5 17 | 7 5 12| 2 2 | 45 | 24 | 69 | 18 | 10 | 28 63 | 34 | 97
E—Ny T 14 | 7 | 21 14 | 7 | 21 14 | 7 | 21
a5t 323 | 139 | 462 | 138 | 68 | 206 | 126 | 48 | 174 | & 1 7 | 593 | 256 | 849 | 948 | 373 [ 1,321 1,541| 629 | 2,170
(2) 7k
——s ;53 "/E BB ER INEE HIRY g a&t
) 8 = B g B ) £ = B g B 5 g = B £ E B g = B g E
2 5mE 47 | 26 | 73 | 4 4 8 1 1 2 52 | 31 | 83 | 40 | 13 | 53 92 | 44 | 136
50mEE 42 | 23 | 65 | 5 4 9 3 1 4 50 | 28 | 78 | 73 | 14 | 87 123 | 42 | 165
25mERE 15 | 8 | 23 1 2 3 16 | 10 | 26 | 21 9 | 30 37 | 19 | 56
50mKE 7 6 13 1 1 7 7 14 | 20 | 7 | 27 27 | 14 | 41
25mEKE 9 5 14 | 1 2 3 1 1 R 7 18 | 16 | 12 | 28 27 | 19 | 46
50mEKE 5 6 1 1 1 2 1 1 6 8 | 14 ] 21 | 12 | 33 27 | 20 | 47
25mINTT5A 0| 4 | 14| 1 1 2 1 1 11 6 | 17 | 14| 5 19 25 | 11 | 36
50m\T 75+ 17 | 5 | 22 1 1 1 3 4 19 | 8 | 27 | 31 8 | 39 50 | 16 | 66
4x50m7Y—UL— 0 0 o | 20 | 8 | 28 20 | 8 | 28
4x50mARL—YL— 0 0 o | 26 | 13 | 39 26 | 13 | 39
a5t 152 | 83 [ 235 | 14 | 14 | 28 | 6 8 | 14 172 | 105 | 277 | 282 | 101 | 383 454 | 206 | 660
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2 Z = 2 £°g H 2 Z = 2 Z H 2 7 E 2 Z H 2 7 E 2 Z 5
YH—750m-30m>ovR 3 3 1 1 1 1 4 1 5 4 1 5
YHh—730mF 7SI UR 18 4 22 2 2 1 1 21 4 25 21 4 25
aAVIXIYR50mM-30m37vR | 5 1 6 5 1 6 5 1 6
VIV R30mMYTILSIVR | 10 3 13 3 1 4 13 4 17 13 4 17
ait 36 8 44 6 1 7 1 1 2 43 10 53 43 10 53
(4) =3 (Bh1: A)
— [543 RE BE PIER INEH Y B Ast
2 Z = 2 £°g H 2 7 = 2 £°g H 2 7 E 2 Z H 2 z E 2 Z 5
—RR=ER 68 30 98 2 2 14 10 24 84 40 | 124 | 97 46 | 143 | 56 38 94 | 237 | 124 | 361
STT 26 20 46 26 20 46 26 20 46
At 68 30 98 28 20 48 14 10 24 110 | 60 | 170 | 97 46 | 143 | 56 38 94 | 263 | 144 | 407
(BY75AVTTA4RY
— (5423 RE BEE PIER NG bl B =5
B z B 3 £°8 B L2 z B 3 £°8 B L2 z B 3 £°8 B L2 L8 & 3 £°8 B
F¥a15Y— F4RA)—h-TrA47 | 64 19 83 13 2 15 33 20 53 1 1 111 | 41 152 | 104 | 46 | 150 215 | 87 | 302
FF¥17Y— F4RA)—h-wTY 9 2 11 1 1 2 5 5 15 3 18 37 6 43 52 9 61
TARIVA LTA—R I Ta40Y 4 4 0 4 4 0 4 4
FARIVA AR T4 19 19 19 0 19 19 0 19
FARIVA LTA—RRIVT 4V 17 17 3 3 20 20 0 40 40 52 52 0 92 92
FARIVA XVR ARGV T 49 | B4 54 14 14 38 38 1 1 107 0 107 | 141 141 248 0 248
A5t 146 | 42 | 188 | 28 6 34 76 40 | 116 2 2 252 | 88 | 340 | 282 | 104 | 386 534 | 192 | 726
(6) Ry F+
p—. [543 RE BRE PAIER INEH Y g Ast
2 Z = 2 £°g H 2 z = 2 £°g H 2 7 E 2 Z H 2 7 E 2 Z 5
Ry Fv 92 28 | 120 92 28 | 120 92 28 | 120
Ast 92 28 | 120 92 28 | 120 92 28 | 120
(7)RoV>y
—_— (55423 RE BEE PIER NG bl B Ast
L Z B 2 £°8 5 g z E 2 £°8 5 g z E 2 £°8 5 L2 z E 2 Z 5
Ry 134 | 34 | 168 134 | 34 | 168
A&t 134 | 34 | 168 134 | 34 | 168
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